RETZX b+ RE#PE WLWAWE 04
1. ROXERBOEE L. (SHK17520%, Af2730%, Bifkds, CH55330% )

1) d—a2—ab—0>-10p*

(2) a® —3ab+ b3 +1
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2. RORZEREfREL. (SH173308, AfK2740%, B4, CH55 308 )

(1) a?*(a—1)+b*b—1)+ab

(2) 8a3 + 18ab + 2703 — 1
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R§TA+ E#HRE WAWBE 04 REREH
1. XoAXZRBfRE L. (Sik17208, Aik27 308, Bik4sr, CHl55730%)

1) d—a2—ab—0>-10p*

=a—b3—a®—ab—b?
= (a—b)(a® + ab+b*) — (a® + ab + b?)

=(a—b—1)(a® + ab + b?)

(2) a® —3ab+ b3 +1

* 37T 3 IR a® + b2 + ¢ — 3abec = (a + b+ ¢)(a®? + b% + c? — ab — bc — ca)
EForRA»s,

5X = A +0¥+13-3-a-b-1
= (a+b+1)(a®+b*+12—a-b—b-1—1-a)
(a+b+1)(a®2—ab+b*—a—-b+1)

Yol fig
5 = a3 +p3+1-3ab
= a3+ 3a%b+ 3ab® + 2703 + 1 — 3ab — 3a?b — 3ab?
= (a+0b)>+13—3abla+b+1)
= (a+b+1){(a+b?—(a+b)+1} —3abla+b+1)
= (a+b+1)(a®? —ab+b*—a—-b+1)
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2. RORZEREfREL. (SH173308, AfK2740%, B4, CH55 308 )

(1 a*(a—1)+b%*(b—1)+ab

=a3+ b3 —a?+ab—b?
= (a+b)(a® —ab+ b?) — (a® — ab + b?)

=(a+b—1)(a? — ab + b?)

(2) 8a®+18ab+ 270 — 1

* 370 3 MR a® + b3 + 3 — 3abc = (a + b+ c)(a® + b% + ¢ — ab — bc — ca)
ENOUN:WIoR

5 = a8 +27° + (-1)>-3-2a-3b- (-1)
= (2a+3b—1){(2a)®> + (3b)* + (-1)2 —2a-3b—3b- (—1) — (1) - 2a}
= (2a+ 3b—1)(4a® — 6ab + 9b*? 4+ 2a + 3b + 1)

Yol
X = 8a*+270° — 1+ 18ab
= 8a® 4+ 36a?b + 54ab?® + 2703 — 1 + 18ab — 36a3b — 54ab?
= (2a+3b)® — 13 — 18ab(2a + 3b — 1)
= (2a+3b—1){(2a+3b)* + (2a + 3b) + 1} — 18ab(2a + 3b — 1)
= (2a+3b—1)(4a® — 6ab + 9b% + 2a + 3b + 1)
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